CASIO

CLASSWIZ
‘ Regression and Correlation
Q#2: Consider the following data
X 1 2 3 4 4 5 6 7
y 20 19 18 17 16 15 14 13
For the data given, find:
(@)
1. sumof x values (Zx)
2. sumof y values (Ly)
3. sumof product of values (Zxy)
4. mean of x values (x)
5. mean of y values(y)
(b)
1. Regression Constant ‘a’
2. Regression Coefficient ‘b’

3. Coefficient of correlation ‘r’

©

1. The estimated value of y if x = 4.5
2. The estimated value of x ify = 16.5

Solution:
(a)
e Press (MENJ and select(6]and then (2].

e Enter your x and y values data by entering values and (=] after each value in their

respective columns.
e After entering the data, press and select (3]

You will have the desired values as follows.

- - -
% =4 | S =2 iy =2.291287847
EH =32 q] =8 =Xy =
ExZ =18k ¥ =165 | =1y =7.449489743
< =3d.h Zy =132 iy =194
6 =1.870823693 EvE =220 R =
5Ly =4 <y =h, 75 EHZy =

(b)
e Press (MENJ and select[6]and then (2].

e Enter your x and y values data by entering values and (=] after each value in their

respective columns.
e After entering the data, press and select (4]
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You will have the desired values as follows.

w=a+hn
a=21.35714286
h=-1.214285714
r=-0,991460134

©

e Press (MENJ and select(6]and then (2].

e Enter your x and y values data by entering values and (=) after each value in their
respective columns.

e After entering the data, press ™®»O

e Now select ™ (4] (5] toenterj.

e As the value of x must be entered before ¥, so press @ and enter the value i.e. 4.5 and

press (=)

4. 5%
15. 89285714

For estimated value of x repeat the process but select 4t option instead of 5th,

4. 5%
15. 89285714
16. 5% 4

Compiled by: Page 2 of 2

Muhammad Asad Al
M.Phil. (Finance), M.A (Eco.)




